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Fifth Semester B.E. Degree Examination, Dec.2019/Jan.2020
Computer Networks
Time: 3 hrs. Max. Marks: 100
Note: Answer any FIVE full questions, c&'a&,ﬁﬂg ONE full question from each module.

Module-1 |
1 a Which protocol can be used for fetching web pager? Explain its working with request and
response message formats. (10 Marks)
b. Explain the services nffere:d by DNS and also explam the DNS record and massage formal.
| (10 Marks)
OR

2 a. Explain the working FTP along with its cnmmands (08 Marks)
b. Compare HTTP and SMTP. (04 Marks)
c. Illustrate how P2P architecture can be adopted in file. Sharing application like bit torrentz.

ol (08 Marks)
EWIT'L'BRAR § ' Module-2 ::

3 a. Draw and explain the FSM for sender site and recewer site of rdt 2.0 protocol. (07 Marks)
b. Explain selective repeat ARQ protocol. >, i \ (06 Marks)
¢. Draw TCP segment structure and explain 1ts fields. (07 Marks)

OR
4 a. Suppose that two measured sample RTT values are 106ms and'120ms.
i) Compute Estimated RTT after each ‘of these Sample RTT value is obtained. Assume
o = 0.125 and Estimated RTTis*100ms. Just before first of the samples obtained.
i) Compute DeVRTT. Assume 6 0.25 and DeVRTT is 5ms before first of the samples
obtained. (06 Marks)
b. Explain how connection estabhshment and termmatmn is handled by TCP. (07 Marks)
C. What is congestion in network? Explain huw TCP handles congestion. (07 Marks)
Module-3

5 a. What is routing? Wlth a neat diagram, explain the structure of a router. (10 Marks)

b. Write link state routing algorithm, ‘consider the following network with the indicated link

costs. Apply link state routing algorithm to compute the shortest path from ‘u’ to all other
nodes in the network. [Refer Fig.Q5(b)]. (10 Marks)

Fig.Q5(b)
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OR

Draw IPV6 datagram format. Explain its fields.

[llustrate the working of RIP protocol.

IL.

List the broadcast routing algorithm. Explain my nne uf them.

With a neat diagram, explain the com

Mudgle-ﬁl
quel;t’s of 3G cellular netwurk a:r::hltecture

Explain two different types of rﬂutmg a:pruaches to mobile nodes.".

.F*a

ew "OR I
Explain the three phases of mamfa IP.

EWIT- LLBRARY]

What is handoff? What are fha steps involved in accnm;pllsﬁmg handoff.

"-'F-;-:-.q‘
Module-5

Explain three dlf’fcrent fj!pes of streaming stored video.

Explain the wnrkmg nf CDN.

=

GR

Describe the leaky bucket policing mechanism.

Explam
Explam

e various packet scheduling thechanism.
P ing
properties of Video. . ™
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(06 Marks)
(07 Marks)
(07 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(06 Marks)
(08 Marks)
(06 Marks)
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Fifth Semester B.E. Degree Examination, July/August 2022

Computer Networks

Module-1
Describe HTTP with persistent and non-persistent connections.
Compare client server and Peer-to-Peer architecture.
Explain the working of Bit Torrent for file distribution.

OR

17CSS2

Max. Marks: 100

Note: Answer any FIVE full questions, choosing ONE full question from each module.

(10 Marks)

(05 Marks)
(05 Marks)

Describe in detail the services provided by DNS and explain the DNS message format.

(10 Marks)

Define a Socket. Describe the socket programming with a help of diagram for TCP.

Module-2

(10 Marks)

With the help of FSM, describe the two states of the sender side and one state of the receiver

side rdt2.0.
Ixplain selective repeat ARQ protocol.
Draw TCP segment structure and explain its fields.

OR
Explain in brief, TCP congestion control mechanisms.
Explain the concept of transport layer multiplexmg and demultiplexing.

Module-3
What is routing? Explain the structure of a router with a neat diagram.
Explain Dijkstra’s algorithm with example.

OR
Explain IPV6 datagram format with neat diagram.

Explain the spanning tree algorithm and give its advantages and disadvantages.

Module-4

Explain 3G system architecture.
Explain the two different routing approaches to mobile node.

OR
What is hand off? What are the steps in accomplishing hand off?

Compare mobile IP and GSM mobility.
EWIT-LIBRARY

xplain Agent Discovery with diagram.
Module-5

List and explain the types of multimedia networking application.
Describe the DiffServ Internet Architecture.
Explain CDN operation.

OR
Write a short notes on: (i) Netflix video streaming platform. (11)

(07 Marks)
(06 Marks)
(07 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(08 Marks)
(12 Marks)

(10 Marks)
(05 Marks)
(05 Marks)

(10 Marks)
(05 Marks)
(0S5 Marks)

VOIP with skype.

(10 Marks)

Explain briefly the QoS Guarantees Resource reservation and call admission process with

neat diagram.
% 3%k %k % %

(10 Marks)
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Fifth Semester B.E. Degree Examination, June/July 2023
Computer Networks

Time: 3 hrs. Max. Marks: 100

Note: Answer any FIVE full questions, choosing ONE full question from each module.

1 =&
b.
C.

< )
b.
C.

3 a
b.

4 a.
b.
i

S5 a.
b.

6 a
b.

T &
b.
"

_ Module-1
Explain the transport services available to applications. (05 Marks)
Explain the HTTP message formats with an example: (10 Marks)
Explain the FTP commands and replies. (05 Marks)
| OR
What are the services provided by DNS? (05 Marks)
Explain in detail DNS hierarchical database. (07 Marks)
Explain the filé distribution time in P2P and client server architecture. (08 Marks)
Module-2
Explain Go back N protocol. (10 Marks)
Explain TCP segment structure. - (10 Marks)
OR
Explain TCP connection management. (06 Marks)
Explain the approaches to congestion control. (04 Marks)
Explain the 3 phases of TCP congestion control (10 Marks)
Module-3
Explain the Router architecture in detail. (10 Marks)
Explain IPV4 and IPV6 header. (10 Marks)
OR
What are the features of link state algorithm? Explain the algorithm with an example.
(10 Marks)
What are the two approaches adopted for determining multicast tree? Explain with an
example. _ (10 Marks)
Module-4
Explain in details the cellular network architecture. (05 Marks)
Explain on to 4G : LTE.: (07 Marks)
Explain the agent registration in Mobile IP. (08 Marks)
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OR
Explain in detail 3G cellular architecture. (05 Marks)
What are the reasons for handoff in GSM? Explain wﬁh neat diagram the handoff process in
GSM. Ny (10 Marks)
Explain direct routing to a Mobile user. (05 Marks)
Module-5
What are the different types of multimedia network applications? Explain. (08 Marks)
What are the different server placement philosophies? Explain. (05 Marks)
Explain CDN operation in detail. ¥ (07 Marks)
OR
Write short notes on the following:
1) UDP streaming 11) DASH. (10 Marks)
Explain Resource Reservation and call admission. (05 Marks)

Explain the three nﬂtwurk level approaches to suppdft multimedia applications. (05 Marks)

EETR

20of2



agonal cross lines on the remaining blank pages.

fimportant Note : 1. On completing your answers, compulsorily draw di

EWIT-LIBRARY

17CSS2

Max. Marks: 100

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(08 Marks)
(08 Marks)
(04 Marks)

(07 Marks)
(05 Marks)
(08 Marks)

(06 Marks)
(07 Marks)
(07 Marks)

(10 Marks)

Write link state algorithm, consider the following networks with the indicated link costs.
Apply link state routing algorithm to compute the shortest path from ‘u’ to all other nodes in

USN
Fifth Semester B.E. Degree Examination, Feb./Mar. 2022
Computer Networks
Time: 3 hrs.
;i Note: Answer any FIVE full questions, choosing ONE full question from each module.
Eﬂ“_
_g 1 a. Explain the working of HTTP along with its required and response massage format.
2 b. Explain the P2P architecture for file sharing.
p
E OR
7 2 a. Explain the working of SMTP. Also explain mail access protocols.
- b. Explain the services offered by DNS along with DNS record and message format.
=~
s Module-2
5 3 a. Explain the working of Go — Back — N protocol.
E b. Draw and explain the FSM for sender site and receiver site of rdt 2.0 protocol.
z ¢. Explain UDP segment structure.
;;:— OR
:__,? 4 a. Draw TCP segment structure and explain its field.
5 b. Explain three way handshaking procedure used by TCP.
E c. Explain how TCP handler congestion.
g Module-3
= 5§ a. Explain IPv6 packet format.
% b. Explain the working of OSPF routing protocol.
g ¢. Explain any two broad cast routing algorithm.
3
= OR
2 6 a. Explain the structure of a router.
3 b.
=
-? the network.
S
E

Fig.Q6(b)
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Module-4

Explain three phases of mobile IP.
[llustrate the two different approaches for routing to a mobile node.

OR
Explain 3G cellular networks architecture.
What is handoff? Explain the steps involved in accomplishing handoff,

17CSS52

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

T

Explain the working of CDN. =
Explain three different ways of streaming stored video,

OR
Explain the various packet scheduling mechanism.
Explain the leaky bucket policing mechanism.
Explain the properties of audio.

* ¥ % %k %
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(10 Marks)

|

(10 Marks)

(08 Marks)
(08 Marks)
(04 Marks)
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USN 17CS52
Fifth Semester B.E. Degree Examination, Jan./Feb. 2021
Computer Networks

" % | .
Time: 3 hrs. m, Max Marks: 100
Note: Answer any FIVE full quesaans, ahﬂnsmg ONE full question frﬂm each module.
~ Module-1
1 Many networks, including mte:rnet‘, provide more than one" transport layer protocol. When

you develop an appllcauun youneed to choose one of the'available transport layer protocol

and consider various parameters. Explain the parambters and protocols to be considered

while designing an apphcatmn £ (08 Marks)

True or False : ¥

1) Processes on two different systems communicate with each other by exchanging
messages across the computer networks

11) A clientservser architecture achieves pcrfect security

1) Socket is.a hardware interface through which a process sends message into, and receives
messages from the network , .

iv) No data loss is tolerated in multimedia applications such as conversational audio/video

v) Developing a new network application for the mtemet offen requires one to decide

whether to choose UDP or TCP. (05 Marks)
With a simple sketch, explain-how SMTP operate: when A send rnall to.B where mail server
of A and B are drffcrent. Shnw the sequence nf aven‘l:s | (07 Marks)
OR~ "
HTTPRequest message |

GET/somedir/page.html HTTP/1.1
HOST : www.someschool.edu

Connection : close -

User _agent : Mozilla/5.0 l EWIT-LIBRARY ]

Accept language : fr - .

Interpret the meaning of each line in few sentences. (05 Marks)
Explain meaning of each line of

HTTPResponse message given below :

HTTP/1.1 200 ok:™

Connection : close -

Date : Tue, 05 Aug 2011 15: 44 04 GMT

Server : Apache/2.2.3

Last modified: Tue, 09 Aug 2011 15:11:03 GMT

Content Length : 6821

Content type : text/html

(data data - - - - - ). (07 Marks)
What is the service provided by DNS system? Explain the meaning of root DNS server, Top
Level Domain Servers (TLD), Authoritative DNS servers. Explain the meaning of the

following DNS records
(relayl.bar.foo.com, 145.37.93.126, A)

(foo.com, mail.bar.foo.com, MX). (08 Marks)
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Module-2 (.
State the assumptions in rdt 2.0 and explain ithe, behavior of the stop-and-wait protocol.
Draw the FSM of sender and receiver clearl shﬂ%ng the events and action. (10 Marks)
Show the nperatmn of GBN protocol of wrﬁ*l a sketch. Window size is4 packets. Show the
sequence of sending six packets (pktﬂ—pktg’) where pktO and pktl are correctly received and
packet (pkt2) 2 is lost. N ¢ (10 Marks)
b 4
) or =

With a diagram, explain the T,Q;F*;%ment structure write ﬂl‘lﬂ lme abnut each field.

(07 Marks)

Explain TCP cnnnectmr;»;gnmkgement with appropriate ‘sketches (three way handshake,
closing). Explain use ofSYN FIN, RST. o (07 Marks)
Explain the flow cnnt?qlf?erwce provided by TCP ‘W‘l!’h a simple sketches show the buffer
variation and deriyeithe formula for rwnd. Explam how the window information at receiver

side 1s mmmunm&*ﬁ: the sender. (06 Marks)
- Mudule-.‘S
Explain ruuter architecture with a Simpr sketch. How packet queueing occur at router?
-, (08 Marks)
Compare. the routing protocols RIP, aﬂd OSPF. (04 Marks)

With a diagram, explain each ﬁefﬂ in the [PV, datagQ Wnte only few sentences about

each field. : (08 Marks)
D j"&wn LIBRARY |

| OR
Suppuse a router recewes [P packet c@t&;l‘j}ng 4020 bytes and to be forwarded to an
outgoing link with® MTU{Maxlmum Transfﬁlsamn Unit) of 4500 bytes. Assume the IP
header is 20 bytess, Show the fragments the router creates’ End specify relevant values for

each fragment (1D, offset and flag) ﬂl'lad b?'fes in each. - (08 Marks)
Draw the IPVﬁ datagram format. Indicate two key differen"t:es between [PV, an IPVs format.
L (04 Marks)

Refer the ﬁ)lluwmg ne.twnrk, Emd ‘the shortest path fmm node ‘C’ to all other nodes using
link stateﬂlgunthm -

. I'ﬁ-_-_ i

(08 Marks)
Module-4
Explain the cﬂmponents in a cellular network. (10 Marks)
Explain steps of hand off for a mobile users. (10 Marks)
A% OR

With a dlagram explam two different types of routing approach to mobile node. (10 Marks)

Explain. agem discovery in mobile IP. Show the ICMP message and registration steps with

home agent. (10 Marks)
20f3
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roles in this process.
b. Explam how DASH helps to improve stream

C. Explain CDN operation with a simpl

NetCinema.

EWIT

AN, -LéﬁRARY
] (RoS) is achieved in network with a sketch showing two

the other browsing. Explam packet marking using IPV4

10 a. Explain how classes of scnﬂ (R
users, one is doing VO% and
header. =
b. Explain how leaky buc‘k}lgonthm is used to achf@p tra
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&
Explain the working of video streaming over @Explajn perfecting, buffer etc and the
3

(08 Marks)

over different availableth dwidth.
(03 Marks)

ch in a scenario a user try%)get video from a site

(09 Marks)

(10 Marks)
(10 Marks)
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Fifth Semester B.E. Degree Examination, July/August 2021
Computer Networks
Time: 3 hrs. | Max. Marks: 100
Note: Answer any FIVE full questions.
-1 a Explainthe interface between the process and the computer Network socket with diagram.
g . | | (10 Marks)
2 b. Describe persistent and non-persistent connections of HTTP. (10 Marks)
=
o
£ . : : :
” 2 a. Explain the services offered by DNS and also explain the DNS record and message format.
3 ‘ | (10 Marks)
S b. Define File Transfer Protocol, its connections and working. Writ about FTP commands and
gﬂﬁ I'f:pllES also. (10 Marks)
3
E 5 3 a. Explain connection oriented multiplexing and de-multiplexing. (08 Marks)
A b. Alice wants to communicate Bob over a TCP connection. Design a model showing different
;E E stat transition they undergo during i) Connection establishment 11) Data transfer
E 1t1) Connection termination. (08 Marks)
£ O .
- ¢c. Define rdt send ( ) and rdt rev( ). (04 Marks)
23 b, : EWIT-LIBRARY
= &
S Z . . . . :
g § 4 a. Explain TCP segment and its services with a diagram. (10 Marks)
k- b. What is congestion in a network? How TCP handles congestion. (10 Marks)
A
E §
8 é S5 a. What is routing? Explain the structure of router with a neat diagram. (10 Marks)
&S b. Explain the spanning tree algorithm and give its advantages and disadvantages. (10 Marks)
v 5 &
z =
g 3 :
-4 - 6 a. Discuss the IPV6 packet format. (08 Marks)
& 8 b. Describe Network layer services briefly. (06 Marks)
S g ¢. How does router determine the replacement VC number for a packet traversing the router?
E' & (06 Marks)
8
§ 2 . |
% 2 7 a. Define 5 elements of mobile network architecture. (10 Marks)
S = b. Explain Indirect and Direct Routing to Mobile node. (10 Marks)
22
R
= : . . .
= 8 a. What s hand off? What are the steps in accomplishing hand off? (10 Marks)
:g_'ﬁﬁ b. Compare mobile IP and GSM mobility. (05 Marks)
S 5 c. Explain Agent Discovery with diagram. (05 Marks)
= 2 |
e < :
s 9 a. Explain PCM Encoder and PCM Decoder. (07 Marks)
" b. Briefly explain properties of Video and Audio. (07 Marks)
3 c. Describe the DiffServ Internet Architecture. (06 Marks)
.En ]
5
E 10 a. [Illustrate the interaction between Client and Server for HTTP streaming for Audio and
k- Video. (08 Marks)
b. Explain content Distribution Network. (08 Marks)
¢. Mention limitations of Best — Effort IP service. (04 Marks)

¥ O ok ¥ K
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Computer Networks
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Note: Answer any FIVE full questions, choosing ONE full question from cach module.

L
L]

‘ Module-1 |

With general format, explain thé HTTP request and response messages. (10 Marks)
With neat diagram, illustrate the basic operation of SMTP. (10 Marks)
OR
Explain recursive ueries in DNS with neat dragram. (10 Marks)
With neat dlagrani *xplain DNS message format. (10 Marks)
y
B
: Module-2
With generaﬁformat, explamn the vanms fields of UDP segment. Explain how checksum is
calculated. ¥ (10 Marks)
With riéat diagram, explain the wml-:m;: of rdt 2.0. (10 Marks)
‘
| OR % Vo
With general format, explain all the field in TCP ségments. (10 Marks)
Explain TCP connectionrmanagement process with neat diagram. (10 Marks)
) Module-3 ; 1
With a neat diagrai, cxplain the structure of a router. (10 Marks)
Write the link state algorithm and apply it to the following graph to compute shortest path
from source node ‘A’ to all nthe;* Elﬂdt‘:—ﬁ in the network. [Refer Fig.Q5(b)]
{ 2 ) -
| -
Fig.Q3(b) (10 Marks)
OR
With general format, explain the various fields of IPV6. (10 Marks)
Explam the intra-é?imutin g protocol 1n detail. (10 Marks)
}

Module-4
Explain theJG cellular network architecture with neat diagram. (10 Marks)
Explain the two types of routing approaches to mobile node. (10 Marks)

'
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a.

Explain the three phases of mobile IP, :
What is hand off? What are the steps involved in athmpllshmg handofi?

%,
Module-5
Explain the three different types of *-,trf:ammg s}on.d video. v:'i
Discuss the properties of audio and vldcci} 42 f
- OR %
Explain the working of CDN. - gy ¥
What are the classifications n;l ng]ulumedm network dppllcaﬂons? Explain.
* k& % ¥ F
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(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)



